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= B 48218 [ 58198 | 68178 | 7A198 [ 8198 [ 9A13H [10811B [11HA158 ] 12898 | 1A178 [ 2A168 [ 3A2H el m/n FfE |C & &K >".f€ﬂ#§$ﬁﬁi£
PH 7.8 8.1 7.9 738 8.1 8.0 8.0 8.0 8.2 8.1 8.0 7.7 58~86] 0% 80 [( 77 ~ 82 ) 8.0
4 [ BOD 6.2 5.2 36 6.5 3.1 3.2 4.1 3.9 43 10.9 24.1 63.5 25 8% 116 [ 831 "~ 635 I 116
SS 56 48 1.6 26.0 48 72 <10 6.0 6.4 128 492 320 50 17% 466 I <10 '~ 320 )| 467
& [ DO ( ~ )
XEEEH 2,200 3400 380 2.400 310 1,400 110 2,200 2500 22,000 13,000 50,000 3000 33% 8300 [ 110~ 50000 )| 8300
B [ nadyvimEmE <1.0 <1.0 <1.0 <1.0 <1.0 <10 <1.0 <1.0 <1.0 <1.0 48 15 5 0% <40 JC <10~ ag ) 1.4
Jx/—)VE 0.009 <0.005 1 0% <0.005 1C <0.005 ~ 0009 )| 0.007
b A <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 3 0% <004 |( <0.04 ~ <004 | <0.04
En 0.06 0.02 0.06 0.03 0.03 0.04 0.07 0.12 0.05 0.08 0.06 0.07 2 0% 006 IC 002 '~ 012 ] 0.6
H | AR <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 0.06 3 0% <006 |( <0.06 ~ 006 )| 0.6
BEEI A <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 3 0% <002 J( <002 "~ <002 )| <0.02
B | /04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 £0.04 <0.04 <0.04 <0.04 <0.04 2 0% <004 J( <0.04 '~ <004 )| <0.04
V% 0.2 <0.1 <0.2 0.2 <0.1 0.1 8 0% <01 JC <01 ~ 02 ) 0.1
AN <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <001 J( <0.01 ~ <001 )| <o0.01
ST <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1 0% <01 <01 T~ K01 ) <0.1
=L D <0.1 <0.1 1 0% 0.1 JC <01 ~ <01 ) <0.1
H [ & <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <001 J( <001 "~ <001 )| <0.01
pN[iZ1=PN <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 0.1 0% <004 |( <0.04 ~ <004 | <0.04
Atz <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <001 J( <001 "~ <001 )| <0.01
JKER <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.005 0% | <0.0005 | <0.0005 ~ <0.0005 )| <0.0005
£ [ ZILXLKE <0.0005 <0.0005 FEE ] 0% ]<0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
PCB <0.0005 <0.0005 0.003 0% | <0.0005 J( <0.0005 ~ <0.0005 )| <0.0005
F)5ORIFLY <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.3 0% | <0.0005 J( <0.0005 ~ <0.0005 )| <0.0005
TF5900IFLY <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.1 0% | <0.0005 | <0.0005 ~ <0.0005 )| <0.0005
W [ oonAzy <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.2 0% <0002 |C <0.002 "~ <0002 )| <0.002
mig bRk <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 0.02 0% | <0.0002 | <0.0002 ~ <0.0002 )| <0.0002
1, 2—¥H0R14Y <0.0004 <0.0004 0.04 0% | <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1=¥9ARIfLY <0.001 <0.001 1 0% <0001 JC <0.001 ~ <0.001 )] <0.001
g | YA—1, 2—y /001y <0.001 <0.001 0.4 0% <0.001 1C "<0.001 "~ "<0.001 )] <0.001
1, 1, 1—t)yaAIsy <0.0005 <0.0005 3 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
1, 1, 2—M)y0018y <0.0006 <0.0006 0.06 0% | <0.0006 |( <0.0006 ~ <0.0006 )| <0.0006
1, 3—¥HAR7' 0"y <0.0002 <0.0002 0.02 0% | <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
FITL <0.0006 <0.001 0.06 0% <0.001 1C "<0.001 "~ "<0.001 )] <0.001
PR <0.0003 <0.001 0.03 0% <0.001 1C <0.001 ~ <0001 )] <0.001
FAR AT <0.001 <0.001 0.2 0% <0.001 1C "<0.001 "~ "<0.001 )] <0.001
oty <0.001 <0.001 0.1 0% <0.001 1C <0.001 ~ <0001 )] <0.001
F5% 0.06 0.06 0.04 0.08 0.06 0.06 10 0% 006 | 004 ~ 008 )| 006
FUESF. FUE=O L ERERBEILAN 8.1 7.0 5.8 75 6.0 8.1 100 0% 7.1 ( 5.8 ~ 8.1 ) 7.1
LY <0.01 <0.01 0.1 0% <001 J( <0.01 "~ <001 )| <0.01
1, 4= X5 <0.005 <0.005 05 0% <0.005 |C <0.005 ~ <0.005 )| <0.005
2EF 8.7 9.1 8.4 10 6.6 7.2 11.0 7.1 7.9 13 15 15 10 (66 ~ 15 ) 10
EYP 0.68 0.86 0.64 0.67 0.59 0.67 0.66 0.81 038 1.40 0.83 2.1 089 JC 059 ~ 21 | 089
IEAA > REE R 0.15 0.10 0.08 <0.05 0.06 <0.05 0.12 <0.05 <0.05 <0.05 <0.05 0.05 <005 J( <005 '~ 0.5 )] 0.07




